3 (Sem-6) ECOM 1

2020

ECONOMICS
( Major )
Paper : 6.1
( Public Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : L=i=¥
T LI Taq feis
(a) What is meant by incidence of tax?
99 RS T 6 &7 2

(b) What is backward shifting of tax?
TG PR AL FIe @0 2

(c) What is incremental budget?

¥ et 2

(d) What is meant by regressive tax?
GRZPTA T< 10 [ qEm e
20A/75T { Turmn Qver )



(2)

(e) What is balanced budget?
TSI ACEG 5 9

() Define fiscal policy.

AGCIAR Tfos wige fagy

(g) Mention the period of implementation of
14th Finance Commission of India.

b e Seem srcamseE Seay 3w |

Answer the following questions : 2x4=8
O STIRE Te] fae]

(@) Distinguish between absolute taxable
capacity and relative taxable capacity.

TH 9 A G WF e 9 g3
AI9E & 2125 {6/ 47 |

(b)  What is meant by fiscal federalism?
TSI TECHT T 5 e 2

fc) Distinguish between Proportionate tax
and progressive tax.
THAANF 99 W TR 77 o A%
Tferea |

(d) Distinguish between revenye budget
and Capital budget.

amﬁﬁaﬁxﬁ<wmsqa&ﬁr?m@%aSW§G*ﬂ%ﬁiﬁﬁﬂﬁ
9 |

20A/757 ( Continueq )

(3)

3. Answer any three of the following questions :

5x3=15
Gﬁ@fﬁﬂzﬁmmaaﬁi@ﬂaﬂﬁﬁﬁﬁaimmfﬁm:

(@) Briefly explain the factors determining
taxable capacity.

aﬁiWmﬂiﬁ¢§aw1aﬁﬁﬁwﬁsqtﬁanﬁnamw|

(b) Briefly explain the four canons of
taxation given by Adam Smith.

Eﬂﬂﬁfﬁmwﬁhnsﬁﬁhaﬁ!ﬁﬁésgt$anwna@1|

- (¢) Explain how burden of tax is shared

between buyers and sellers.

GEGTGW¥ﬁﬁERﬂ<ﬂW$3?W€c%mﬂﬁﬁﬂiﬁﬁﬁq
Y, 07 ] |

(d) What are the advantages and
disadvantages of zero-based budget?

ﬁfn4%ﬁ?$anmﬁa=m%ar@m¥vmj%mﬂqﬁﬁ$f$?

(e) Briefly explain the functions of Finance
Commission of India.

ST {8 AR FROMR 3236 771 39 |

Answer any three of the following questions :
10x3=30
Eﬁﬁsfﬁﬂ!ﬁﬁvmaa‘ﬁ'GWTHTﬁ%ﬁﬁhafﬁaaT%ﬂ1:

(a) Explain critically the Ability to Pay
theory of taxation.

aﬁiﬁ?ﬁlﬂﬁ@ﬁiﬂﬂﬁmrmmamsqmﬁﬁanﬂnaﬁns

20A/757 ( Turn Over )
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3 (Sem-6) ECO M 2 (A/B)

() Analyze the effects of taxation on
production and distribution. | 2020
e F [Redd 9UFe $99 gerE R[ogEd |
4] | ] . ECONOMICS
Major
(c) Discuss the role of taxation in a | ( jor )
developing economy. i Paper 005

Tee SRS IR SR FCH 4 |
; Full Marks : 60

(d) Discuss the objectives of fiscal policy.
What are the instruments of fiscal policy Himes bt

to attain these objectives? 5+5=10

qrecRE AT SCRIPTR A I 1 G2
ToRIPE WY I e Aifed

The figures in the margin indicate full marks
for the questions

'\sn‘%imfg R Answer either in English or in Assamese
(e) Discuss the principles of federal OPTION—A
finance. What are the problems faced in
9 —
federal financer Q=10 ( APPLIED STATISTICS )
T Re-gaed AT wET 3= | . |
B Rre-qae W% R 9 ( For Arts Stream Only )
4 ' 1. Answer the following as directed : 1x7=7
() Discuss the recommendations of the
14th Finance Commission of India. weT Al e Tes fo -
oLl =99 29 AT i ki
< Re W‘Rq | (@) Real wage =———— %100
Price index
* % K ( Fill in the blank )
© I e
APS TG = S 100
( <40 3% *F %41 )
20A—7000/757 3 (Sem-6) ECOM 1
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(2)

(b) The seasonal variations of a time series

(c)

(d)

20A/758

occur

T APGTS RIS 71 I

() within a day
9o g foose

() within a week
<1 e fooqe

(i) within a month
0| PIESA CISES)

(iv) within a year
9B 299 fowae

( Choose the correct answer )

(= Teqeor Afe Tferes )

Fisher’s index number is the of
Laspeyre’s and Paasche’s indices.

( Fill in the blank )
fFoRs Pere (R ARR e ofifeg
LA r

( 4140l 912 °F 371 )

What does the d, column of a life table
represent?

@Eﬁﬁﬂﬁﬁﬁcg:@&fﬁﬁﬁﬁﬁmﬂ?

( Continued )

(e)

(3)

Price relatives used in the construction
of index numbers are pure numbers.

( Write True or False )
HpF M WA FECS JARA 4 7 ACAE

g% RN = |
(= 7 SR fordl )

2x4=8

() Distinguish between a parameter and a
statistic.

51 ame W b1 eferfe e X AL

e |
(g) Can non-sampling errors be present in

census surveys?

o st ofRfee Seforam @b e AT 2
Give short answer to the following questions :
weTo firdl epcard 59 ed fie
(a) What is meant by deseasonalization of

(b)

(c)

20A/758

data of a time series?

IEAR ApEe Aerdfde ©y IfeE &
o 2

Write two limitations of fixed base index
(FBI) number.

f&fefe (FBI) poies 11 oo a1 spifel
fern |

Define vital events and vital statistics.

e ool % 0% A3 wge| fore |

( Turn Over )



(4]

(d) What method would you prefer in the
collection of data when the population
under study is (i) small and (1) very
large?

Y LR TS P ol eome wafier
frar T weRmTe WR @) e wre (i) 99
Tleq 27 ?

3. AnSWfar any three from the following
questions : 5x3=15
woTo il ead R e e Te iy -

{a) Calc.ulate trend values using 4-yearly
moving average for the time series given

below : 5
ool FEEANER /1 4 =R v sf
IREZE I Tz 7 fiefy 2wy -
Year : 2001 2002 2003 2004 2005 2006
LS
Production
(in ‘000 tons) : 80 84 80 88 98 92
ST
(’ 000 57®)
Year ; 2007 2008 2009 2010
729
Production
(in '000 tons) : 84 88 80 100
e :
(’00057TS)
20A/758 ( Continued )

(S)

(b) Prove that Fisher’s index number
satisfies both time-reversal test and

factor-reversal test.

o1 T @ O PR T BeEH <A
S ST SR AqH frm T |

(c) Distinguish between age-specific fertility
rate and total fertility rate. 5
TERMAE THTe 7@ e P Tfel 299 A -
el |

(d) Describe briefly the main steps or stages
involved in a sample survey.

efonf FNFE Clee &ibe T PR 5
3efef] 411

fe) Define :
it o

(i) Hypothetical Population
opfsre IR

(i) Sampling Unit
263 ¢arme

(iti) Standard Error
R o

1+2+2=8

4. Answer the following questions : 10x3=30

oo il eIes Tek i
fa) (i) What is an Index number? 2
s 5 2

20A/758 ( Turn Over )



(6)

(t) A worker earns ¥ 750:00 per month.
The cost of living index for a
particular month is given as 160.
Using the following data, find out
the amounts he spends on (i) food
and (i) house rent :
9em AfE Tz T 75000 TeeT 3¢ |
I B =Y e g <9 sppice
160 far =g | wom wumiPR 771 (o8
(i) M0 S (i) T9 Srere (YW 1w 99
Ay = 1

) Group Expenditure (¥)| Group Index
TIE (=) | e T

Food P 190

I

Clothing 125 181
PEAF
Fouse Rent ? 140

¥ O1Y]

Fuel 100 118
37

Miscellaneous 75 101
EejT]

Or/ 9941

20A/758

(i) What precautions should be taken
to select the base period to
construct an index number?

AHFS 2Fe (90 fofea fgfon weace
& & STragee! S=emge 9k wigs 2

{ Continued )

20A/758

(7))
(i) Given the following data : 6
Commodity Po do » q
A 1 10 2 5
B 1 5 X 2,

Where pg, g, refer to base period
price and quantity; p,, g, refer to
current period price and quantity.
Find x, if the ratio between
Laspeyres’ (L) and Paasche’s (P)
index number is

L:P=28:27
oo T O “4l

e Po do B q
A 1 10 2 S5
B 1 5 X 2

TS py, qo-9 Fofeq wm e “fm;
p, g9 e I AN e AR
@R | x I T e 90 30 AR (L)
F AIfRE (P) PRI TS

LsP=28:273%] |

(b) (i) Distinguish between questionnaire
and schedule. 2

IR WIE PPN TGS AL (TS |

(i) What is stratified random
sampling? Discuss its merits. 3+5=8

g yfoes aAfenrm &2 TR FRepz
o 41 |
( Turn Over )
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(8)

Or/ =41

Explain the methods for measurement
of mortality.

TR T A F1 ARNSTYZ 17T 3447 |

(c) (1) Fit a straight line by the method of
least squares and find the trend
values from the data given below :
e il IR o1 wErey qof “miecd
GRe T fife o we Ak

TefefoTRg T el 1

Year : 1991 1992 1993 1994
=Y

Production : 77 88 94
(in ’000 tons)

Seofe :

(’000 %)

10

85

Year 1995 1996 1997

ST

Production : 91
(in 000 tons)

e

(’000 57)

98 90

(i) Eliminate the trend by using the
multiplicative model.
Qe I @eed  (multiplicative)
Taford TomfS WP (eliminate) 97 |

(Continued) 20A/758

(9)

Or / 941

Write short notes on any two of the
following : 5x2=10
oo RCCT GO @+ 5 (Bl fea -
(i) Life Table
&l 41 S Wil
(i) Gross Reproduction Rate
ol e 29
(i) Chain Base Index Number

RIS T IPIRT

( Turn Over )



( 10 ) (11 )

" OPTION—B (e) What is the role of the dummy variables
in a model of the form y; = o +BD; +v,?
( ECONOMETRIC METHODS ) Y; = +BD; +v; TS 28R v S 2

(i Write one source of autocorrelation.

( For Science Stream Only )
wefey TR <51 T o7l |

1. Answer the following as directed : 1x7=7 (g) Give one advantage of least squares
TS AR ATt T fiay method over moving average method in
- the context of time series analysis.

(a) Nam; a method how autocorrelation 58 ST “mheoe @S e Tf aforeE

N 51 (R Forat (S ReseR o) |

TN T e o1 oS @B T s |

1 2. Answer the following questions : 2x4=8

(b) Why is there type II error in woTe TRyl 2MCERd bed o

multicollinearity? ) o

2= (a) Draw a figure showing positive and
27l RS 4N 11 B9 69 A1cs 2 negative first-order autocorrelation.

(c) In a time series, heteroscedasticity does B o v I (AT AF FINE A~

not occur. TR FAENF TRFACEE (YT |
( Write True or False ) (h) What is seasonalization of dummy
e REwfisferel Seq 727 | variables?
(©% @ wrom el ) SO veed 4oael JfercE S 2
g (c) What is the problem of estimation of the
(d) d_at does A represent in the partial » : following consumption function?
Adjustment model Cp =bg +b Yy +byYg 1 +b3AY g +1

where AY; =Y, Y4 4
@fqq W3 Toen  wemcol Y [
el 6 2

Yt =Yt MY, —Yy_q)+1y, 0 LN £17
IS TS Wi

Yt =Y-1 MY, ~Ypoy) +1;, 0 LA L1
© A2 e gmm

20A/758
20A/758 ( Continued ) ( Turn Over )



(12

(d) Mention two remedial measures when

3. Answer
questions :

multicollinearity is detected.

T@efl ST T R 161 9! SeE 1 |

three from the following

5x3=15

any,

weo feq) epcared & e ot T fia

(@)

()

(c)

20A/758

How is the presence of
heteroscedasticity  tested? Discuss
briefly the ‘Lagrange’s multiplier test’ for
heteroscedasticity. 2+3=5
fefefel @rmE @ cFr ke f-
fooferer fdige <91 ‘Grags e [
ISCo] ST P |

What is dumy variable trap? How can
we overcome it? 2+3=5

2SIF! Beed 1% 5 2 SIf (e e R
9 e ?

-State the Koyck model and show how it
Incorporates time lag. 5

Koyck W01 o1 wie e st w44
(PETR TS 91 (== (74 |

( Continued )

(13 )

(d) Fit a straight-line trend by the method
of least squares to-the following data : S

o oA ARl PO EOE i Pt o
Toefe @41 5109

Year

=9
Earnings
(¥ in lakh)

Wi (1149)

. 2002 2003 2004 2005 2006 2007 2008 2009

38 .40, B5...72 69,60, 87 95

(e) What is the utility of time series analysis

20A/758

to a businessman and an economist?
With what component of time series
would you mainly associate each of the

following? 2+3=5
e Romg oo wF sdAfeRe
Ry T 7 IEEAS FF TARE Ge
off wers ToTRIfE S T 2
(i) The monthly record of rainfall in a
city
52 TS TR TR AT

(i) Fall in death rate over the last
decade

(AT T 49 P 02 49 TOR W
(iii) An era of prosperity

REEEY

( Turn Qver )
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(14 )

4. Answer the following questions : 10x3=30

oo YT ePIARY ey faa ¢

(a) Explain the methods of detecting the

multicollinearity =~ problem in a
linear regression model. Discuss
the consequences of ignoring
multicollinearity. 5+5=10

90l FREERT SRR e =y ST
RIS | A 1 [ B 12 1 B R T
SCEDA I Y TR S{@ R

weppioTy 2

Or/ 91
From the following information, test the
autocorrelation : 10
X ¢ 1 2 3 4 o 6 7
Yo 2 4 6 8 10 12 14

The tested model for the
observations is ¥; =1-2+0-6X,
ST O O TG T e[ w4 |
TWE A@ ReEEE WG 2
Y; =1-2+0-6X,

above

(b) Explain the adaptive expectation model.
What are the problems faced in
estimating the model? 5+5=10

FAfeTeeT o ¥ a1 @2 SR
{4t TR @1 wemER & R0
(Continued)

(15)

Oor/ 91
Show that for the first-order
autoregressive scheme. 10

AR FILET TR CFqe (& A
Up =pU;_y +&y, <]
where (3'9)
E(,) =0
E[ieg)=0 t#s
= 8? t=s
3¢

1ap2

vary,) =

(c) Write the consequences of applying OLS
when there is autocorrelation. 10

wefern SoEm A OLS oi@e $9- Fero
2141 TepEferaR ol |

Or/ 941

The following information  gives
hypothetical data on consumption
expenditure C, disposable income Y,
and wealth W, all in thousand rupees,
for a sample of 15 families :

4+2+2+2=10

20A/758 ( Turn Over )



(16 )

R IEFe SURME 1561 REEE T «@ore
Toicel @ C, I OF Yy, WE Fm W

(FReCEll T b)) TAR -

Family : 1 2 3 4 5 6 7 8 9
G o BRI TR dGends 18 20 14
% e 2ol Il SIGR RIS T G2 G0 23 15
W : 144 47 63 70 67 52 79 90 58

Family : 10 11 12 13 14 15

ok o F 17 41 17 33 20 18
Y, " s s 50 19 37 22 19
woooe 70 s 204k Wi7s 149 86 76

(i) Regress ConY,; and W, and find R"
and Iy, W. N
Y, SIF W, I @[S C Suead o) R?
E 1y, w e |

(i) Regress C on Y; only.
99 Y, €70 C-3 SEge 341 |
(i) Regress C on W only.
@ W s9qs C-9 SR 41 |
(iv) What can you conclude from the

preceding with regard to
multicollinearity?

T2l T R TR R ofi e 4l
P I 2

* & &

00A—7000/758 3 (Sem-6) ECO M 2 (A/B)

3 (Sem-6) ECOM 3

2020

ECONOMICS
( Major )

Paper : 6.3

( Economics of Natural Resources and
Sustainable Development )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questioné : 1x7=7
o APTRE Ted feidl
(a) Define ecosystem.
Affcrregd vigel i |
20A /759 ( Turn Over )



(b)

()

(d)

(e)

(9)

20A/759

(2)

Give the full form of UNCED.
UNCED F 3=%j<f F#fcbl o |

Write the meaning of ‘carrying
capacity’.

‘yre Fer’q u B |

What is Green GNP?
oTes GNP (6 e Seam) 62

Give two examples of inexhaustible

resources.

o 7o o1 St |

What is meant by maximum

sustainable yield?

TS FRACI90 TeAT Jfercet s e 2

Identify the nonrenewable resource :

S Ao e 1 :
Forests (371%%7); Petroleum (Glapg 28)

( Continued )

(3)

2. Answer the following questions : 2x4=8
e PR T e

() What is meant by potential
resources? Give one example.

R o Te R e 7 @1 Swrzaet o |

(b)) How does environmental accounting
differ from conventional economic

accounting?

opfere Seftos SORE o[ ARGERR Sl
7 72 2

(c) Give the concept of biotic and abiotic

resources.

(SRS SF SEEs e qEe Wl |

(d) Write any two consequences of
global warming.

ColreTpra Tepors & cpreet ot “IfRems ferar |

20A /759 ( Turn Over )



(&) (S)

3. Answer any three questions of the (d) Explain the meaning of
following : environmental quality and its
5x3=15 importance.
el U B G R efer W W W S
RIRHEEEIN
() What are the problems of

(b)

(c)

20A/759

jonal economic accounting? 3 _
GPEWSTAON & (e) Briefly state the concept of optimal

Tk d with the help of
How 1s 1t removed wi 2 rate of harvest.

environmental accounting?

opfere WeAfes oeE TR R T ST AR T A TR 741 |

e 3 7 I T e 4. Answer the following questions :  10x3=30
Co PR Ted foid

Distinguish between strong
sustainability and weak (a) Give the meaning of resource’. Name
sustainability. the different types of natural

: resources. Distinguish  between
e el WW Eub HEE R material and energy resources with
QIR L el | their importance.

T wy i ®fen @i agies
oo N o omd | e Seemg
IEq 212 S 2[R fo |

Briefly explain the concept of
development-environment trade-off.

TAe-Afeca TRENeq 4IRACHl Hee A
3 |

20A /759 ( Turn Over )
( Continued )



(b)

DOA/T59

(6)

Or / 9<1

Bring out the distinction between
renewable and nonrenewable
resources. Describe their
characteristics.

AT S SR TR
Tre@ {1 fom e | PrEe sfwmz
4[|

What is resource depletion? Explain
the conditions of optimal depletion
of exhaustible resources in a

competitive market.

sop T W [§7  dfSciErees
TEAS T T P S GO
el

Or / 94«1

Define sustainable development.
Discuss in detail the various
indicators of sustainable
development.

FEeclan TR gl fr | el T
oS T TAMPTE St |

( Continued )

(e

(c) What is user cost? If user cost

increases, explain what will happen

to the level of harvest.

JRe W 2 MW wEfs | I =,

S SRR TR eoe I gem ifkq,

RISIESSIN

Or / 9«1

Write short notes on the following :

9+5=10

were [rICAE er[@e 5y (R forl

(i) Ozone

depletion and its
consequences

T B o8 T 2 AR

(ii) Concept of backstop resources

PHIENT T A=o7q Gell

20A—7000/759

* % %
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2020

ECONOMICS
( Major )

Paper : 6.4

( International Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

wore faaRe fetEm Ted i :

(a) What is Customs Union?

W% 3¢ T 2

20A/760 ( Turn Over )



(3)
(2)

() Write the full form of f.o.b. and c.if. in
(b) Economic occurs when two or the context of balance of payments.

more nations join to form a free-trade . B
zone. (trade/integration/development) fob. WF cif.3 ] IO (QOTR
TR Tgeq 2P o4 |

( Choose the correct one to
fill in the blank )

(g) Services transactions. are regarded as
‘invisible’ item in the balance of

@ 73 1 ool qE Fol 2 {E - payments.
mj%m ezt ;S/,Ww‘\ﬂ)ﬂl e Wl ( Write True or False )
( qnere /382 /T

( o Saachr A ¢ A1 912 o 1 ) e fRoTCet o1y 31 27 |

( 311 1 =pry fepan )
(c) What is spot exchange rate?

2. Answer the following questions : 2x4=8
grfefes Rfw 29 907 &2 T O
(d) What is basic balance in the balance of (a) State any two functions of the World
payments? Trade Organization.
O (T g (R Bye &0 Fo v e R e o e et 1
(b) What is balance of trade?
(e) If the real exchange rate is equal to one, ‘
currencies are at purchasing power A M T TG 2
parity. (c) Write two differences between
( Write True or False ) international trade and internal trade.
SR ey W SreRRq iR TR
i o R 2 @9 S =, qEw @ e o1
99 S | '
( 7% (1 w7 fai4 )
2Ragiren ( Turn Qver )

20A/ 760 ( Continued)
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(4)

(d) State any two causes of fluctuation in
foreign exchange rate.

(e ga R 29 @R oReT /Gl
71 A9 fefa |

Answer any three of the following questions :

5x3=15

wore il epeaRa & @reen fofiom Teq fopan

(a) Explain in brief the causes of

disequilibrium in balance of payments.

Rt @R Sgee (1 fE SPTeR

FRPIYZ HYCE A0 4 |
(h) Explain the functions of foreign
exchange market.
tacate a R T@Re FEEE w49 |
(c) Explain the functions of International
Bank for Reconstruction and
Development.

N EE T KGR  HFEe (A9
SRR I 541

( Continued )

(5)

(d) Distinguish between balance of current
account and balance of capital account.
e f2peR Tge wIF TagAl f25eR Tged e
Ny YT |

(e Why is international economics
considered as a distinct branch of
economics?
e weAfes wdAfe e o R[FXE
w1 et fRicawan 3 = 59 2

4. Answer the following questions : 10x3=30

oo Al epeaRs Ted e :

(@) Explain the nature and scope of
international economics. 10
o SeAifed oS e AR T 40|

20A/760

Or / 941

Explain the concepts of fixed and
flexible exchange rates. Explain how
disequilibrium in balance of payments
is corrected under fixed exchange rate

regime. 5+5=10

forq S T R =99 qr@el o1 e <941 |
fer ff 29 Gage @FoW Tges S|
e T w1 =, e 40 |

( Turn Over )



(6)

(b) What is balance of payments? Explain

the major accounts included in the
BOP. 2+8=10

e @GR By Wi 0 @
TR T7es Sgee (2[ Y6 5 T
A |

Or / 941

Explain the concepts of trade creation
and trade diversion in the context of
Customs Union with the help of suitable

numerical example. 5+5=10

T IR PG e AR e iferey SepTEeR

T B SRS Feare Wi seEs I
= |

(c) Deﬁ.n‘e foreign exchange rate. How is the
equilibrium foreign
determined? 2+87

R E CR
ﬁﬁ?ﬂ’ﬂﬁ%ﬁqﬁgﬁqumq

20A/760 od)

( Contintt

exchange rate 10

20A-—7000/760

Gl

Or / 9471

What are the main functions of the
International Monetary Fund? Discuss

the aid policy of this fund. 5+5=10
rEeiies J@FRE 351 SRR & 57 @2 [l
2Ry Aifes fREc s 41 |

* k k
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2020

ECONOMICS
( Major )
Paper : 6.5

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

weTo frd e Teq 714

(a) Mention one feature of marginalist
school.
218 41919 b1 C3RE Soae 7940 |

(b) What is neo-classical economics?
T JEere gL 2

() Who first calculated national income of
India?

@I 20T S8 Grey S s IR 2
(d) Give the meaning of ‘Sarvodaya’.
ST’ s e |

(e) Write the name of the book where
J. M. Keynes explained his theory of
income, output and employment.

o, M W AR 9g qip 99l
(&, 9¥. (B4 A% A forqr |

20A/761 ( Turn Over )



(9)

2. Answer the following questions :

(2)

Who explained the concept of economic

drain?

QT S FIgPRE {aeTCsl T R ?

Name the economist explaining t_he
concept of consumers’ surplus with
ordinal utility curve.

TPpe TRl @qR ARl (OTER O
QIEIICH] T4 91 ST RmEee e fes |

were Wl 2RRRT Teq fog

(a)

(b)

()

(d)

20A/761

Mention any two policy prescriptions of
Keynesian economics.

Wﬁ%ﬁm@mﬂﬁm
@Y 90|

Write the concept of ‘Gram Swaraj -
S FAE'T {RET s |

State any two themes of Kautily®®
Arthasastra,

AR ST R e T
TCE |

Define the concept of quasi—rent‘

TET &R R S |

( Coﬂﬁﬂu

2x4=8

v

(3)

3. Answer any three of the following questions :

5x3=15
were il 2pedd R e fofibre Teg for
(a) Give an idea of Carl Menger on goods
and value. i
T (TERT T AF P @[S A7 4R
LY 0
{b) Explain Gandhian concept of
decentralization.
STRIENS REFRISS 4! <=1 <51 |

(c) Critically discuss Jevons theory of value.
(TSR o0 OGO FHCORETS S5
1|

(d) Assess the contributions of
Mathematical School to the history of
economic thought.

wefafes SRy Wt arfafes  foEER
TSP FER 9 |

(e) Give an idea of the dynamic theory of
profit introduced by J. B. Clark.

@. B ¢ Sfrear rex sifoRle weoR b
graer gl |

4. Answer the following questions : 10x3=30

oS i 2R Beq fordl

(a) Evaluate the contributions of A. C. Pigou
to the welfare economics.

e SAfecE 9. . Pigg etz o
9 |
20A/761 ( Turn Over )
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Or / 941 ab &
Explain the relevance of Gandhian ECONOMICS
economic thinkings to modern India. Ma:
T SHee AEN wHAfes  aRArTERI (AMEN )
GIKESIEIENE T
. PINE Paper : 6.6
(b) Discuss Ranade’s economic ideas and
views.
( Planning for Development : India and the
Ezlw ST (Rl SR TR S North-East )
Or / 211
n . Full Marks : 60
Critically explain the quantity theory of
money. Can you derive the aggregate Time : 3 hours

demand function from the money
demand function?

TR TR SGBR SmEEEe O

The figures in the margin indicate full marks
for the questions

jﬁm Sm OIfRA e =1 o oI Answer either in English or in Assamese
() Show how Keynesian economics iS 1. Answer the following questions : 1x7=7
;ef“?r;ted from the classical economics. TS ERPTRA Teq fordl
€ynes had given the solution of ;

depression and unemployment? (a) In which year was the NITI Aayog
SESR IS T R vewfrs we@ifeq introduced in India?
%%ﬁl%mwww CRee S TS (I HTe e 1

T o afie o =79

Or / @y . .
Explain the contribyt: ) i (p) What is the' total population of

ributions of Wicksell 17 Assam according to 2011 Census?

the field of [
Production and distribution-
SRAM o i and distributio .
OIR Crge ; 30%% B9 GEIPIHS (O =P Yo SePRAN
T 4 T Crge Tagpeq @2 kY »
e 2
* k&
20A—7000/761 » g5 204/762 ( Turn Over )
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(2)

(c) What is the density of population of
North-Eastern region according to
2011 Census?

035 BT EIEE WS- e
SRS Ty R 2

(d) Write the full form of FEMA..

FEMAR = Fofchr fara |

(¢) What do you mean by Foreign
Institutional Investment?

Wﬁ?ﬁﬁ%ﬁﬁmﬂqﬁmﬁswo

i, Whi(?h country makes the highest
Foreign Direct Investment in India?

20A/762

( Continued )

(3)
2. Answer the following questions : 2x4=8
TS il 2PpTeRd e e -
(a) What do you mean by International
planning?
B “ifw Jferce [ e 2

(b) Mention two broad strategies of
Indian planning.

e ARFER 10l f@e @E Sy
91 |

(c) Mention the name of two countries
taking the highest share in India’s

export trade.
Sedd I TR ™ = wideE
1 P TR A R

Is economic planning essential after
liberalization? Give two reasons in

favour of your answer.
SrRede ore SR ARFEIR e
e 7 (ONR TEIE CE M1 I
v |

(d)

20A/762

( Turn Qver )



(hd )

3.
Answer any three of the following

questions : e -
T fiAl 2PT R careeT R e e

{a) Discuss the role of community and
voluntary organizations in economic
development.

AT e TREE o el
HQ*WW \Elfm TSB! 7 |
(6) Explain  the importance of

afrlcultural transition in hill areas
of North-East region.

SRR e e
2 IR fig
RET ercmeiee) < w4 |

(c) Discuss the features of globalization

C‘Sﬂﬁaﬁa‘ﬁ' mmwl

- .
(d) Discuss the lmportance, of Forei
] ign

Dil‘ect Inv
estment :
economy. ' the Indian

SRS Wi
GO
@menw (e R

20A/762
( Continued )

(5)

(e) Explain the strategies to change the
status of shifting cultivation.

PGS PET TA A FeacA TR
CFPETR <=0 0 |

4. Answer the following questions : 10x3=30

woTe T ep Ued forel -

(a) Analyze the achievements and
failure of India’s Five-Year Plans.

SHed e ARFEIR SRSl W
fzrerorTyR faosme 41 |

Or / 9l
Discuss the objectives of Five-Year

Plans of India after liberalization. Do
you think that these plans are able

to achieve its targets?

T AeEE TEEAe SRR
AR AR PR SICEoAl
ﬁimaﬁ@@%‘?ﬁ@?amiﬁ
oY SR ?

20A/762 i uem)



(e77)
(6)

Or / 9241

(b) Discuss the change in the
composition of foreign trade of India
after liberalization.

Analyze the trend of growth of State

Domestic Product (SDP) and per

capita income of North-Eastern

SRR TR REe SHed States.

@R IO AR e BAA @ﬂ$meW@wﬁww@@WW

SAICEB 91 | WWWWmWW1
Or / g3y

| * K Kk
Discuss the trend of growth in

Foreign Direct Investment in India.

What are the major initiatives

adop_ted by the country to attract

Foreign Direct Investment (FDI)?

RO orep P R 15

T ?Fﬁ'“ﬁ”w'mm%ﬁﬁmﬂ

mq (PRGT oy g1 24
PR 1% R o

(C) DiSCUSS th
¢ Industria] policy (2007
of North-Eqgt. Ustrial Policy (2007)

S o,
o g T S A
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